Seat No.

Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY

Diploma Engineering - SEMESTER-II « EXAMINATION - SUMMER 2013

Subject Code: 3321102 Date: 15-06-2013
Subject Name: Electronic Networks
Time: 10:30 am - 01:00 pm Total Marks: 70

Instructions:

ok~ wNE

Q.1

AN o e

o

10.
Q2 (a)

(a)
(b)

(b)

(©)

(©)
(d)

(d)
Q3 (

(a)
(b)

Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.

Answer any seven out of ten.

Give difference between Mesh and Loop.

Explain linear network and Non-linear network.

Give the statement of KVL.

Explain Transfer Impedance and Image impedance.

Give difference between Attenuator and Equalizer.

Explain Selectivity in R-L-C circuit and give relation between bandwidth and
selectivity.

What is the meaning of Bandwidth in series R-L-C circuit and give relation
between Bandwidth and resonance frequency.

Give difference between Series and Parallel resonance.

Explain applications of filters.

Write the design equations of T-type and ©t -type m-derived high pass filter.

Explain Iron core transformer.
OR
Explain the magnification factor in series resonance circuit.
A series RLC circuit consists of a resistance of 10 ohm, an inductance of 0.1
Henry and capacitance of 0.001 microfarad .Calculate the frequency of
resonance in radian/sec and in Hz.
OR
A coil with resistance of 20 ohm, an inductance of 0.3 Henry in parallel with a
capacitor 30 microfarad. Determine the frequency of resonance and Q of the
coil.
Define Quality Factor. Get The Equations of it For a coil.
OR
Derive the equation of resonance frequency for a series resonance circuit.
Explain how voltage source can be converted into equivalent current source.
OR
Explain voltage division method with necessary equations.

State the disadvantage of constant k type filter and explain how these are
overcome by using m-derived filters.

OR
Give classification of filters using definitions and characteristics graphs for
each.
Design low pass filter of T-section having cut off frequency of 3kHz with a
terminated load resistance of 600 ohms.
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Design high pass filter of © -section having cut off frequency of 2kHz with a
load resistance of 400 ohms.
Explain m-derived low pass Filter for & section.
OR
What is composite filter? Explain it.
Explain symmetrical Bridge T attenuator.
OR
Explain lattice type phase equalizer.

Three resistances of 6, 15 and 10 ohms are connected in star. Find equivalent
resistance in delta formation.

OR
Capacitor of 10, 20 and 30 microfarad are connected in parallel across 100V
dc supply. Find the equivalent capacitance and the charge on each capacitor.
State Reciprocity and Superposition theorem.

OR
Explain the principle of duality with example.
Explain Nodal analysis with necessary equations.

Define Neper and dB. Establish relationship between Neper and dB.
State and prove Thevenin’s theorem.
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